University of Pretoria etd — Schlemmer, J E (2004)

drawings



Ty

Commercial Street
W )
{ ;
B O

R A

£
a S
%@%

LR

D
o

;

Nt
e

University of Pretoria etd — Schlemmer, J E (2004)

Oranje Street

wholesale depot

parking to shops and housing

|

G 8

an

trading street

anm il

A Ny

5,

trading street

G

scale 1:500

-

T T,
VNI L‘E‘f

i

]

double volume
ollection space




University of Pretoria etd — Schlemmer, J E (2004)

ramp 1

i@)@??T?TTTTTTT?TT?S

ST TR A e e A e )
£ @% LI gﬁ?g - @l;;] IHCINI gﬁ& 3 @I;;] TR @@
[T T [T ] ‘ [T DT T ] ] ‘ LI LT HEEEEEE ===

first floor plan

scale 1:500




University of Pretoria etd — Schlemmer, J E (2004)

eeeeee

I D S O O S (O N O A

7

N C3

L1 T 1

soonro @ LT

11 ]

qJ

[ [ [ ]

[

|

[

|

|

; - FTIPS oo, o TG ool ieo &
N R - R e i
| | | | |

[ [ []

second floor plan

scale 1:500




td — Schlemmer, J E (2004)

1a e

ty of Pretori

iversi

Uun

rrr. vt oottt 17 T ]

®

@

Svernigrunt

i

Boasig

L

500

scale 1

third floor plan



University of Pretoria etd — Schlemmer, J E (2004)

PRl A i N, sdds '::i""' ,yﬁ? #
7 7 Y i v~ [vav)
2. %

it A |l NpERAT 4 @ ooy

fe > X )
P A RS

% 0av)] L 0 P [y a P ] 2 (v 2 o L] M N 9 4
& -0 R Zns e B I :
A 3 T s

= ¥ ) - - =3 |
i~
i 3 3 B i

b

soufth sectional elevation scale 1:500



University of Pretoria etd — Schlemmer, J E (2004)

E
D
2

north sectional elevation scale 1:.500



University of Pretoria etd — Schlemmer, J E (2004)

0 L 3750

5001
| protective shading screen

i

to bottles
‘ — > roller-shutter dogr
I =
% @daidd © -
: I If 7cold store7  delivery ’h
and wash C
& C
=5 | |
=2 ]| | = [ L I I , C
R L | =
| wash (@)
@ store D males
. D
kitchen D
D
@ S e "
prep letta

000

00

|
dUCt

hflp desk and serve

Tt

000

o
ground flo

or

>
>

5000

5000

3750

first floor d

- e -
O b )
e ational o
R N
@ : : =
XX
(e}
(gv)
(&)
s )
(V]
c
! (gv)
| o
overnight unit
=
[ [ [ C
(:> - 3
[} [ [
i cC
igh, it o
overni uni - —
70 QVEINight 1390 1K —
(gv)
)
Vi h (@)
1 E
N o e e
C i ) - (@]
PP [ o
¢ ()
overnight unit (g)
. . £
overnight unit D-‘
| :
o O e} —
o @
>
A o
Ordn

bﬂ“y’ unit

: .

A



University of Pretoria etd — Schlemmer, J E (2004)

?

= .( : — — — ( : —
£ ational £ ational | o
2 2 N
© ) ggggy 1 © | gy A =
| a
—
gy
(&)
@ f S 5 f z
n
c
—
overnight unit overnight unit (m}
i +—
[ [ [ B B z : | [ [} [ ] C
@ i [ [ [} [ [} [ :

i
c
s0 QVEINight unit t 1900 M rs0 QVEINight unit 1390 (@]
(9]
I na 7 E
I = (=
[} [ [ [} [ [}
@%, —— - N @—‘ T d E
B P [ o
{ ¢ ()
overnight unit overnight unit %
: | —+—
overnight unit overnight unit _C
¥ i m =
@%r D L] [ [ B - @_‘r D [} [ [} - E
(o}
i e 5
| | : (@)
g

overnighteunits

overnight amd bedsitter uni



University of Pretoria etd — Schlemmer, J E (2004)

; ;, @ 25807 ceiling height

FZ‘&@‘.’& it
ot O .-I,.\ﬂ_,a%" overnight/bedsitter
Y unit
Nk

o F e, ‘o
2 'z" rUFFL

ubf B
:fzgﬁ{%g%ﬁ : ‘[:;7[2;7[;;2ﬁDf;““

overnightjuni

Tl

dormitory unit

, 0000 7 UFFL |

5(

i

YN S TR

commercial street

section a-a (1)

scale 1:100




University of Pretoria etd — Schlemmer, J E (2004)

west elevation

scale 1:125

)
‘-o‘%a" ' “
ginl o
el

gy
© C 1 e




University of Pretoria etd — Schlemmer, J E (2004)

00Z:, 2183s sueyd yun buisnoy pue doys

8 ppdo

:
{
©

Buinl|
2%
Buidos|s J 1| pate
[}
8
8

1 Bupjred
]

ue)d Jooj} punodb uo sdoys

LI

sJun Jojayieq pue Ajwey Jooj) Jsdij

Buisnoy pue sdoys
|




sjiun Jojayseq pue dnyjem Ajiwe) papuaixa

University of Pretoria etd — Schlemmer, J E (2004)

OOZL a]EJS
<) 2

>)
M
o] X
5 -+
M
a
: D
' — 4’ a
a a o | g 2
i) ] § ’ 3.
Il <

8 EYl @
g H i
af g % 0;
07 3| | A
0l a c
23 . . O
° S e A -
&S (N
(e
(2]
| m
y D
N 3
\v j ~
C 0 .
+
(V2]

ueid pun buisnoy pue doys

Qf 2
i
% 07 2
[s] - 3 D (@
- :
\LE g
ER i f .
o [
i
o §
- | S 3 o HO)
s EINIRE,
‘ [sle) Q
TN } C= g .
: N e B
D\mm[\ ' an
00|
| ]
= -(m)
0 [
@ ;
D —
—-- i




University of Pretoria etd — Schlemmer, J E (2004)

14200+ top of gable wall

IAdl\

12580+ ceiling height - I 2 ‘ — ,\<’ ,<,

9520 <z VUFFL

amjly unit

6460  UFFL B T

/ il
iling height
3400 z °€Thoneld family unit
U_/ bl RPN .”‘_: v AL R EHL oy -~ A e Ll

i

Al

0

3400 <z UFFL

shop

0000 <z VUFFL

section b-b  scale 1:100



University of Pretoria etd — Schlemmer, J E (2004)

north elevation scale 1:125



University of Pretoria etd — Schlemmer, J E (2004)

M M| | MM MM | MM

south elevation scale 1:125



University of Pretoria etd — Schlemmer, J E (2004)

L =N
] 13345<, ceiling height ., T i 4 |
— = lettable business/office space
- 10200 _UFFL ! " .,f@? _ ﬁ ey W i
. — lettable business/office space
=— 6800 < UFFL jk E Ki % Ei j E/ g L
= e —a —
3400 <z UFFL . double volume collection space
S 5 0 }
/
—_— / (/) C\ig A 4\ S {}I N (_

sectional a-a (2) scale 1:100



B
R AES
RS\ S
.w, L S A A
TN SRR
NN N
A7 B2 N
) 3 M
BT VA RN
i, 5 3
5 b2 A kD
s "Y1 A7 AKE 4
9 O
id
\Xr
o 4
7 o N
SRS
N LAY~ &
:
I VDR
» K o
RN P
e A NS e
NV ) T
S N A T
2 A
;S
S 2
.h..,,w ;
%%

td — Schlemmer, J E (2004)

1a e

ty of Pretori

iversi

Uun

NSNS N

250

scale 1

R BT

east elevation



University of Pretoria etd — Schlemmer, J E (2004)

2.0mm galv. steel

expanded metal screen, y

fixed to 100 x 75 x 25 x 3 F “ i

galvanised steel lipped _ G oa

channel rail with 6mm J

self tapping screw and

washer

Rail fixed to wall with M6

chemical bolt

800 x 800 pre-cast _ (inside)

concrete and galv. steel

frame window.

profiled steel or signage s

fixed to expanded metal 7

screen with M6 gutter :
window de’rabilOItscale 1:10




University of Pretoria etd — Schlemmer, J E (2004)

76 x 153 galv.
T-section

60 I s.s staunchion
fixed to 100 x 75 X 6
galvanised unequal
leg bracket with
M10 stainless steel
bolt.

Bracket fixed to slab
edge with M10
stainless steel
chemical bolt.

60 J x 3 satinless steel

circular hollow section foot rail

welded to 10mm I
S.S steel bracket.

Bracket fixed to holder bat.

60 D x 3 satinless steel

circular hollow section foot rail

10mm O s.s steel bracket
stainless steel holder bat.

N

40mm non-slip screed to fall

foofrail detail 1:5

7\



University of Pretoria etd — Schlemmer, J E (2004)

60 D x 3 satinless steel
circular hollow section hand

- rail

10mMmm J
i s.s steel bracket.

—- stainless steel holder bat.

76 X 153 galv. T-section

R fixed to holder bat

\ 3mm galv. steel welded grating

clamped by t-section and strap with
M6 self tapping screws at 400 ¢

5 x 100 stainless
steel strap

handrail detail 1.5



150 x 50 S.A
pine beam
fixed to
t-section
connector plate
with 8 @ coach
screw

University of Pretoria etd — Schlemmer, J E (2004)

4

a3

300 x 50
S.A Pine
tread

gabion wall connector detail

N L

S

scale 1.5

iz

2.0mm galv. steel
expanded metal gabion
cage mesh, welded to 50
X 50 x 5 galv. steel angle
frame.

1

Angle frames fixed to
203 x 102 x 7 galv. steel
t-section cage connector
plate with M8 bolts



University of Pretoria etd — Schlemmer, J E (2004)

[T

2.0mm galv. steel
expanded metal gabion
cage screen, welded to
50 x 50 x 5 galv. angle
frame.

Frame welded to 10mm galv.
steel base plate.

Base plate fixed to concrete
footing with M12 anchor bolts

gabion foofing defail 15



University of Pretoria etd — Schlemmer, J E (2004)

75 x 50 x 6 galvanised
angle screen frame fixed
to holding bracket with
M6 bolt.

80 x 80 x 25 x 2.5 galv. top hat
section holding bracket,
fixed to 75 @ bluegum beam

with M10 coach screw.

2.0mm galv. steel expanded
metal screen, fixed to angle
screen frame with 50 x 5 galv.
flat bar strap. Strap bolted to

angle screen frame with M6 bolt

gumpole screen fixture deftail scale 1:2




University of Pretoria etd — Schlemmer, J E (2004)

2.0mm galv. steel expanded metal screen,
fixed to 50 x 25 x 3 galv. steel angle
screen frame |with 50 x 5 galv. flat bar
strap. Strap bolted to angle screen frame
with M6 bolt

unequal leg galv, steel angle

screen frame, welded to patent
sliding gear in channel.

80 x 80 x 2.5 galv. steel section

holding bracket, fixed to 75 &

bluegum beam with M10 coach

SCrew.

patent sliding gear nylon guide in
channel.

A

=]

slidir{g screen frame defail scale 1:2



¥




Walking grid set into pole

50 x 50 x 5 galv. steel
structure.

framed walkway grid
welded to galv. steel

brackets.

BRI
BN
KON
LGN

1:10

timber and steel screen structure

scale

University of Pretoria etd — Schlemmer, J E (2004)

150 O treated bluegum

pole, fixed to 300 x 150 x 10
galv. steel flange plate with

M10 bolts

X XRTTXRTS
s £ AN
YRS
SR i XK
N AN
BRRRRLS -
OOOOSOONN \)
SRR \
SRS .
BEERRK
SRR
BEERRS
BB
B
SRR A
SRR 7 A
BN A
BOBIRRNS AN
SRS AN
BB AN
BEERRNS AN
BB ADBED
SRS AREBE
NS AREBE
B A
B8 LRGN
e XXX
¥ (X000
/ LRI
ARXEXENAEN
o m Q
SR
2358
T ® O
$28909
[0) @ T 9
) c
w ® .m o
o N - m
L
oo Qct
o g £
c X % 5
LQmOo

timber pole to concrefte column

scale

1:10



	Front
	Chapter 1
	Chapter 2
	Chapter 3
	Chapter 4
	Accommodation schedule
	DRAWINGS
	Site plan
	First floor plan
	Second floor plan
	Third floor plan
	South sectional elevation
	North sectional elevation
	Ground floor
	Overnight units
	Section a-a(1)
	West elevation
	First floor family and bachelor units 
	Extended family walkup and bachelor units
	Section b-b
	North elevation
	South elevation
	Sectional a-a(2)
	East elevation
	Window detail
	Footrail detail
	Handrail detail
	Gabion wall connector detail
	Gabion footing detail
	Gumpole screen fixture detail
	Sliding screen frame detail
	Timber and steel skin structure


